IF5053

IFA3002-ANOG/20m

5 2 E Wby - PR 8%

je—

M12x1

——

B AR

KA NPN
iy HH Th g i bl
R B [mm] 2
hhik WA A A
G [mm] M12 x 1
TR

TAERR V] 10...30 DC
RIIAFE [MA] 7, (24V)
Wy 7 5 4 I
AR i
BHEARET NPN
iy HH I g i il

B 48] i 1 DC 76 IR e e KA \Y| 15
BB HDCIRE R AR [mA] 200
Bl #5%DC [Hz] 700
i O i
IR i

T s i [

R 2 e [mm] 2
PRI EEF A St [mm] 2+10%
T A B [mm] 0..1.6

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — A" {5 B AS B8 5300 401 1 5 S R AR 2 U RER . — ZH-TW — IF5053-00 — 13.01.2017 — £



IF5053

IFA3002-ANOG/20m

KIS /2=
FEIE R S 1/ AglsE: 0.7/ #457: 0.4/47: 0.4/ 47: 0.3
blazsli [Srif 4 Ee] 3..15
] B RS [Srif 4 Ee] -10...10
T AR
BB Y [°C] -25...80
AR5 S A IP 67
FEDR B AT B
Ak IR A AE
©HE P2
JsF [mm] M12 x 1
BRAARE M12 x 1
ME W SESRE); PBT
RS
4t 5 i 1 [i] 5 g 2
{5 BLA 1 fi
AR %
T 20 m, PVC; 3 x 0.34 mm?2
iz
BN L+
¢ — =
— \BU___ _
ARERE
BN = SE)
BU = B
BK = o

HAR A PR F) » 801648 i i i 4 6 P 1 VU 23556 44B % « Phone: 00886 7 3357778, Fax: 00886 7 3356878,

info.tw@ifm.com — A" {5 B AS B8 5300 401 1 5 S R AR 2 U RER . — ZH-TW — IF5053-00 — 13.01.2017 — £



